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(1) PER/DTEUIF R WA B O IR E

(BT - %8 5 M) (26.7.1)
T I NS = A A SN B (o
&t (A+B) 933 7,753 177,408

A HIFEE 155 1,166 64,108 | B /N5t 778 6,587 113,299
1 HEERETE - - - 1 BEEMINEE 7 553 15,754
2 M - RIREFEISEE 4 16 420 EHEIE, A A—— 3 489 14,507
B SR SO BEIR<) - - - GO I it 4 64 1,246

AR 3 10 x 2 4 KR - HOEY RNGEE 118 494 6,074
FoEY §h 1 6 x SRR - R - A 12 36 357

3 HEHREHFEE 4 280 9,723 BFIR 12 49 781
BLETEN) - K PEY) 18 81 2,156 IR - R 57 222 2,532

8 - gk 23 199 17,566 B - B 13 34 645

4 BEHH. 5 SBMHEHEE 30 192 10,218 ZOMOH « KR - HOEY 24 153 1,759
TG 21 131 6,983 3 MEMRNFTE 274 2,791 35,803
{2, 7 45 x KRR AR 20 985 18, 354

PERi N - - - B3 . BLE 22 110 1,569

e b 1 14 x T 14 106 1,030
IR - - - fiffa 8 46 657

A B R 1 2 x i 25 70 659

5 HmIREETEE 31 408 24,777 =Ny 63 412 1,886
PE SR s B 8 44 2,409 Z Ot O ERA 122 1,063 11,649

SEIEN 11 82 3,029 4 HWEBRENFTE 86 583 18,424

B A B 8 268 19, 260 EETE 44 374 13,257

Z Ofth O B 4 14 79 S 15 32 273

6 TOMODETEE 49 270 18,971 MR (A, HEEEER 27 177 4,894
FH @A - U)ok 11 66 2,957 5 ZDOfhd/NFEE 274 1,990 32,534

EH A - (LRSS 7 82 13,213 FH - gte - 19 146 3,388

A - RS 3 9 237 Cw9as 11 38 261

iz sE Sy 28 113 2,564 EE S - bkt 92 761 13,090

B A 2 67 x

AR 15 121 6, 134

HEE - B A 34 338 2,912

AT il - DA B - R 10 35 509

B - HiEt - IREE 21 66 955

iz S e 70 418 %

6 MIEH/NTE 19 176 4,710

WEMRGE - BhRERGE 14 98 1,498

H BRI & 2/ E2E 3 74 x

E O fth, o ) 5 & 2 4 x
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(2) BT T RIS, e Bk O IR BE

(AL &% A M) (19.6.1)
. ® % K € ¥ ¥ % © M O %

S T T R T T EE I

73 # 1,323 184 1,139 9,728 1,279 8, 449 243, 221 112,157 131, 064
H Fiiid BT 2217 30 197 2,404 420 1,984 93, 905 56, 713 37,192
— T H 12 2 10 111 7 104 % % 3,053

— T H 89 3 86 918 10 908 x x 19, 561

= T H 23 4 19 137 22 115 2,457 1,110 1, 347

m T H 51 7 44 571 58 513 8,943 3, 057 5, 886

H T H 16 5 11 223 90 133 29,471 27,607 1, 864

N T H 15 5 10 280 213 67 24, 464 23, 247 1,217

+ T H 21 4 17 164 20 144 4, 756 493 4,263

53] BT 78 1 67 350 45 305 4,508 910 3,598
— T H 12 3 9 59 14 45 799 167 632

— T H 9 - 9 17 - 17 109 - 109

= T H 17 4 13 124 11 113 1, 900 152 1, 748

w7 H 14 2 12 62 15 47 x x 420

% OT H 23 2 21 77 5 72 % % 635

N T H 3 - 3 11 - 11 54 - 54

[1ié] 53 HET 33 5 28 354 67 2817 7, 646 1,517 6,129
— T H 7 1 6 140 40 100 x x 1, 957

— T H 2 - 2 5 - 5 X - x

= T H 11 1 10 135 18 117 x x 2,501

moT M 8 2 6 60 8 52 % % 1,499

. T H 5 1 4 14 1 13 X x X

% HET 25 6 19 188 50 138 5,404 4,224 1,180
— T H 7 4 3 46 40 6 x x 46

- T H 6 1 5 65 7 58 % % 452

= T H 12 1 11 77 3 74 x x 682

= P HET 67 9 58 453 50 403 7,371 2,022 5,349
— T H 13 2 11 28 8 20 x x 63

— T H 28 3 25 289 19 270 X x 4, 207

= T H 26 4 22 136 23 113 1, 441 363 1,078

it 53 HET 24 5 19 93 26 67 1,503 621 882
— T H 15 3 12 43 17 26 x x 282

- T H 6 2 4 43 9 34 x % 557

= T H 3 - 3 7 - 7 43 - 43

A =] HET 37 1 26 169 49 120 15, 693 13, 988 1,705
— T H 11 3 8 68 15 53 1, 585 527 1, 058

- T H 5 1 4 33 2 31 x % x

= T H 1 — 7 - 7 X - X

T H 15 5 10 36 20 16 13, 024 12, 822 202

T H - - - - - - - - -

A T B 5 2 3 25 12 13 x % 85

< A R OH 70 15 55 742 124 618 23, 061 11, 702 11, 359
— T H 19 3 16 354 31 323 x x 3,907

—~ T H 14 6 8 87 42 45 1, 435 694 741

= T B 17 4 13 105 36 69 9, 446 7,924 1,522

/T H 11 - 11 77 - 77 845 - 845

T T B 9 2 7 119 15 104 x x 4, 345

o BT 39 4 35 338 56 282 8, 551 1,877 6,674
— T B 12 - 12 34 - 34 170 - 170

-~ T H 9 1 8 70 3 67 % % 2,137

= T H 1 1 - 9 9 - x x -

moT M 2 1 1 64 21 43 % % %

T T B 12 1 11 149 23 126 x x 3, 805

A T H 3 - 3 12 - 12 % - %

0 iR 61 9 52 308 4 267 4,899 711 4,188
T H 11 4 7 43 17 26 680 163 517

- T B 12 1 11 82 5 77 x x 564

= T H 13 1 12 72 11 61 % % 981

m T H - - - - - - - - -

% T H 5 2 3 12 6 6 % % 8

N T B 20 1 19 99 2 97 x x 2,117

R’ R B 40 7 33 341 37 304 6, 370 1, 359 5,011
— T B 6 1 5 16 7 9 x x 103

- T H 14 2 12 61 7 54 % % 648

= T H 5 - 5 149 - 149 1,742 - 1,742

moT M 7 1 6 77 1 76 % % 2,281

T B 6 1 5 21 5 16 x x 237
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= = BT 104 1 93 543 50 493 11,756 3, 658 8,098
— T H 3 - 3 10 - 10 69 - 69

— T H 5 - 5 11 - 11 87 - 87

= T H 52 4 48 217 6 211 3,029 184 2,845

/T H 6 1 5 66 20 46 X x 1, 388

T H 12 2 10 120 3 117 x x 2,193

N T H 26 4 22 119 21 98 2, 154 638 1,516

B + HT 68 13 55 489 60 429 10, 698 1,749 8,949
— T H 11 2 9 37 7 30 X x 522

—~ T H 6 3 3 29 22 7 976 920 56

= T H 7 1 6 120 3 117 X x 3,426

m T H 34 4 30 248 17 231 3,677 469 3, 208

H T H 6 2 4 26 6 20 X x 1,453

N T H 4 1 3 29 5 24 x x 285

L H7 20 9 1 97 24 73 1,754 413 1,341
— T H 2 1 1 8 2 6 x x x

— T H 5 3 2 21 7 14 X x x

= T H 3 1 2 5 2 3 X x X

W T B 4 - 4 47 - 47 1,093 - 1,093

T H 5 4 1 15 13 2 x 160 x

NoT H 1 - 1 1 - 1 X - x

B M7 78 10 68 513 32 481 7,794 1,200 6, 594
— T H 5 2 3 33 8 25 X x 233

— T H 12 - 12 84 - 84 795 - 795

= T H 27 - 27 245 - 245 4,024 - 4, 024

m T H 20 5 15 86 19 67 1,481 799 682

H T H 10 3 7 36 5 31 X x 626

N~ T H 4 - 4 29 - 29 234 - 234

= HT 38 5 33 145 39 106 2,263 1,241 1,022
— T H 14 - 14 43 - 43 568 - 568

—~ T H 9 2 7 63 29 34 X x 310

= T H 3 1 2 10 5 5 x x x

moT A 6 1 5 16 4 12 x % 44

T H 2 - 2 4 - 4 x - x

A T H 4 1 3 9 1 8 % % 43

= & M7 50 8 42 692 27 665 9, 540 1,705 7,835
— T H 10 2 8 47 12 35 x x 309

—~ T H - - - - - - - - -

= T H 20 4 16 531 11 520 5,978 285 5,693

m T H 3 - 3 8 - 8 X - X

T H 2 1 1 6 3 3 x % %

N T H 15 1 14 100 1 99 x x 1,787
vEY N E 109 3 106 662 9 653 X X 6, 388
— T H 85 1 84 572 4 568 x x 5,534

- T H 22 2 20 59 5 54 % % %

= T H - - - - - - - - -

m T A 2 - 2 31 - 31 x - x
OIEY NEI 91 5 86 482 19 463 4,891 306 4,585
— T H 3 - 3 5 - 5 15 - 15

—Z T H 7 - 7 31 - 31 378 - 378

= T H 46 4 42 262 17 245 x x 2,254

m T A 35 1 34 184 2 182 X x 1,938

x H7 8 1 7 34 16 18 X X 181
T H 5 1 25 16 9 X x 127

- T B 2 - 2 5 - 5 x - x

= T H 1 - 4 - 4 x - x

i H7 13 1 12 67 3 64 X X 693
T A 1 1 3 3 - x x -

— T H 3 - 3 16 - 16 368 - 368

= T H 5 5 39 - 39 237 - 237

moT B 2 - 2 5 - 5 x - X

T H 2 - 2 4 - 4 X - X

N T H - - - - - - - - -

T =3 = 43 6 37 264 35 229 3,311 1,198 2,113
— T H 4 3 1 25 23 2 x 898 x

- T H 11 1 10 35 7 28 X x 172

= T H 4 1 3 30 3 27 x x X

m T A 22 1 21 170 2 168 X x 1,639

i T H 2 - 2 4 - 4 x - x




